144" Eigenvector

N, = 4 s=1 mgs =0

Irred. Representation : I's 3

(=7 +2U + 320 — 2cos (05) V45 )

Wl

Eiy =

[W144) = [4,1,0,T53)
= Cha41 (|02du) + |02ud) — [0d2u) — |0u2d) + |20du) + |20ud) — |2d0u) — |2u0d)
+ |dOu2) + |d2u0) — |du02) — |du20) + |u0d2) + |u2d0) — |ud02) — |ud20))
+  Chaa2 (|0du2) + |0ud2) — [2du0) — |2ud0) — |d02u) + |d20u) — |u02d) + |u20d))
+  Claas (|duud) — |uddu))

Crit — _t(J+U = 2W + 2cos (03) VAs)
3v2
Cua—o = 2V2t2
Crors — 24t2 + U% — 2J(U + 10W)
3v2
N <—A%2 +12W (=5J + 11U + 851\/[//_) —12(U + 10W) cos (63) \/A_2>
9v/2

Niyy = \/1601244,1 +8CH 0 +2CT 5



